Customer drawing

console distance

clear opening

clear opening

center winding shaft

trailing edge guid rails

Please make sure that the curtain does not ru
If necessary, adjust the funnel (by bending)! T

unnel should be perpendicula

m_zmﬁ the funnel after Boca_zm

the guide ra
to the running track at half door

height.
fastener 2 besrmgconeale ith <tainies Staltasrene |
structure concrete masonry aerated concrete (steel encosure reqie) steel wood
console Typ! / hanging drive console Fischer FAZ Il 17| threaded rod M12_| hex bolt MI2x60 hex bolt M12x80 threaded rod M2
console ESTA 75 Fischer FAZ Il 17 threaded rod M2 | hex bolt MiZx60 hex bolt M12x60 threaded rod M12
console £STA 8 Fischer FAZ Il 1§ threaded rod M6 | hex bolt Mi6x60 hex bolt M16x80 threaded rod M1
console ESTA 9 (922 mm x 850 mn) Fischer FAZ 120 | threaded rod M20 | hex bolt M20x60 hex bolt M20x60 threaded rod M20
wall flange/ wallflangeconsole Fischer FAZ Il 12 threaded rod M2 { hex bolt M12x§0 hex bolt M12x80 threaded rod M
quide rail without relining Fischer FUR II 10/80 | Fischer FUR Il 10/80 | Fischer GB14/ hex bolt 10x95 drill screw 8,3x32 | wood screw 8x120
quide rail with 30mm relining Fischer FUR 10/135 | Fischer FUR 10/135 | Fischer GBI4/ hex bolt 10x140 drill screw 6,3x60 | wood screw 8x120
quide rail with §0mm relining Fischer FUR 10/135 | Fischer FUR 10/135 | Fischer GBI4/ hex bolt 10x165 drill screw 8,3x90 | wood screw 8xf50
quide rail with 80mm relining Fischer FUR 10/160 | Fischer FUR 10/160 | Fischer GBI4/ hex bolt MIOX150 drill screw 63x110 | wood screw 8x160
header seal nail dowels 8x60 | nail dowels 8x60 [ dbill screw 6,3x32 drill screw 8,3x32 | Spax screw 630
console barrel casing Fischer FAZ 10| threaded rod M10 | threaded rod M10 hex bolt M0x60 threaded rod M0

technical characteristics of the door:

side space motor side (necessary): xxx mm
side space bearing side (necessary): xxx mm
necess. lintel height: xxx mm

drive-pin: xx mm

bearing-pin: xx mm

direct mount drive TARx.xx

emergency drive opera

sideview left

deview right

f

-top view guide rails-

FS steel

guide rails (FS)

DOOR SOLUTIONS

06780

Kundenauftragsnummer

Sales order number
Posi
Item number
Kundennummer
Customer number
Kundenname
Customer name
Materialnummer
Materials number

33415 Verl
festr. 27 T 1

T +49 (0) 5246 504-0 T +49 (0) 34956 65-0

F +49 (0) 5246 504-230 F +49 (0) 34956 65-133

wung
Materials summary
Kundenkennzeichen
Customers indicator

Rolltoranlage Easy

Poerlassung an Unberechtigte u.&. werden von uns

peschiitzte Patente und Gebrauchsmuster enthalten. Alle

Piese Zeichnung ist und bleibt unser geistiges Eigentum. Diese Zeichnung ist urheberrechtlich mommﬁ__n: ommn::E Teilweise m_:a ommmﬁ__n:

unserer

::a in

I_:w_oz_ <m_Ao_9




